Revenues, revenue variances, and

customer profitability analysis

Part I

1. distinguish between tracing and revenue allocation

2. describe two methods of allocating the revenues of a bundled package to the individual products in that package

3. describe the insight from dividing the sales volume variance into the sales mix and sales quantity variances

4. show how customer profitability reports can be prepared to highlight differences across customers in their profitability.

Companies that prosper make revenue planning and revenue analysis centre stage in how managers allocate their energies.

Three revenue-related topics.

Part one: revenue analysis. Discusses tracing and revenue allocation issues when assigning revenues to products, services, customers, or departments.

Part two: revenue and sales mix analysis. Discusses revenue and sales mix analysis for companies with multiple products or for companies with single products sold in different countries.

Part three: customer profitability analysis. Covers issues in collecting and analyzing customer revenues and customer costs. 
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-s are inflows of assets received in exchange for products or services provided

comers. In this Part, we discuss issues related to the tracing and allocation of

'« to products, services, customers, or departments. Revenue tracing occurs

weee revenues can be identified with an individual product (service, customer, and

in an economically feasible (cost-effective) way. Revenue allocation occurs

wen revenues, related but not traceable to individual products (services, customers,

on), are assigned to those individual products. Revenue tracing results in a

ccurate assignment of revenues to products than does revenue allocation. Just

1 cost data, more accurate information is believed to result in better decisions.

I'he Superhighway Application Group (SAG), a computer software company,

w e used to illustrate the issues discussed. SAG develops, sells, and supports three
v are packages:

WordMaster. Current version is WordMaster 5.0, which was released 36
nonths ago. WordMaster was the company’s initial product.

SpreadMaster. Current version is SpreadMaster 3.0, which was released 18
ronths ago.

FinanceMaster. Current version is FinanceMaster 2.0. This product, the
mpany’s most recent, has been its most successful. The 2.0 version was re-
-ased 6 months ago.
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Consider sales returns. Many compames perrnlt dissatisfied customers to re
products previously purchased and to receive a refund of the purchase price (or a
toward future purchases). At the time the original sale is made, it is not known whs
specific customer will return a product. However, on the basis of past returns, co
nies often assume that a percentage of actual sales will subsequently be returned.

Companies that make sales return adjustments on the basis of broad averags
across the returns for many products potentially reduce the accuracy of the indivs
ual product revenue amounts they report. The current sales return reporting
proach of SAG illustrates broad averaging. It assumes that 3% of gross revenues
be returned when sales are made. This 3% return provision applies to each of
three products. Returned products are assumed to have zero value. SAG records
enues for each month to be 97% of the gross revenues when sales are made. /
the following sales to new customers were made in 19_7:

WordMaster SpreadMaster FinanceMaster

Actual units sold 6,000 9,000 4,000
Actual selling price $ 250 $ 300 $ 450
Gross revenues $1,500,000 $2,700,000 $1,800,000
Deduct sales return

provision (3%) 45,000 81,000 54,000
Net revenues $1,455,000 $2,619,000 $1,746,000

SAG?s policy is to permit sales returns within one month of the sale. One month
the end of the 19_7 year, it knows the actual sales return amounts for 19_7.
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The current approach of SAG is to accumulate the actual sales returns in a s
account. At the end of the reporting period, it makes a single adjustment to
19_7 revenue. Assume that SAG has actual sales returns of $249,000 that pertais
the 19_7 sales of $6 million. Its 3% assumption underestimated the actual sales
turns by $69,000. Its actual sales return percentage was 4.15% ($249,008
6,000,000) as opposed to the budgeted 3.00% ($180,000 + $6,000,000).

At the end of 19_7, SAG makes a uniform adjustment to the net revenues
each product. An additional 1.15% of gross revenues is deducted, making the
sales return adjustment 4.15%:

WordMaster  SpreadMaster  FinanceMaster T

Gross revenues $1,500,000 $2,700,000 $1,800,000 $6,
Sales return adjustment

(4.15% x gross »

revenues) 62,250 112,050 74,700 ‘
Net revenues $1,437,750 $2,587,950 $1,725,300 $5,75

The use of the uniform 4.15% across all products is a peanut butter approach
enue adjustment for sales returns. It is analogous to the peanut butter appr
costing discussed in Chapter 4 (pp. 100-101). If there are differences across pr
in their sales return percentages, more accurate individual product net r
amounts can be obtained by tracing actual returns to the appropriate product &

Assume that SAG had the following actual sales returns for 19_7:

WordMaster SpreadMaster FinanceMaster

Gross revenues $1,500,000 $2,700,000 $1,800,000
Actual sales returns 15,000 108,000 126,000
Net revenues "~ $1,485,000 $2,592,000 $1,674,000




[image: image4.jpg]»¢ actual sales return percentages are:
WordMaster 1.0% ($15,000 + $1,500,000)
SpreadMaster 4.0% ($108,000 + $2,700,000)
FinanceMaster 7.0% ($126,000 + $1,800,000)

< of the 4.15% uniform adjustment results in the following under- and overstate-
-nts of net revenues:

Assumed
Net Revenues
Actual with 4.15%
Net Revenues Return Assumption Difference
\laster $1,485,000 $1,437,750 $47,250 Understatement
:d\Master 2,592,000 2,587,950 4,050 Understatement
wance Master 1,674,000 1,725,300 51,300 Overstatement
$5,751,000 $5,751,000

“wese under- or overstatements of actual net revenues will result in under- or
werstatements of individual product profitability. For example, WordMaster is
w=e2lly more profitable than is reported when the 4.15% average adjustment is
Collecting reliable product-by-product sales return data is now more feasible
s recent advances in information technology. In the past, many companies used
« averaging for sales returns because of the difficulty of collecting reliable re-
e darta for many individual products returned to many different stores. It is only
« wecentyears that retailers have had extensive information systems where all stores
s enter product-by-product sales return information into a common database.




Revenue allocation

A bundles product is a package of two or more products or services, sold for a single price, where the individual components of the bundle may also be sold as separate items, each their own stand-alone prices.
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Suite
Suites WordMaster SpreadMaster FinanceMaster Sales Price
Word and Spread $250 $300 — $440
Word and Finance $250 — $450 $560
Word, Spread, and
Finance $250 $300 $450 $760

The unit manufacturing costs of each software product are WordMaster, $36;
SpreadMaster, $40; and FinanceMaster, $50.

The two main classes of revenue allocation methods are the stand-alone
method and the incremental method. We now discuss each in turn. Both methods
have analogues for cost allocation as discussed in Chapter 13 (pp. 485-487).
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The stand-alone revenue allocation method uses product-specific information
pertaining to products in the bundle to determine the weights used to allocate the
bundled revenues to those individual products. The term stand-alone refers to the
product as a separate (non-suite) item. Consider the Word and Finance suite, which
sells for $560. Three stand-alone sources of weights are as follows.

1. Unit selling prices. The individual selling prices are $250 for WordMaster
and $450 for FinanceMaster. The weights for allocating the $560 between the
two products are:

, $250 _ _
Word: 380 8560 = 0.36 x $560 = 5202

8450 _ _
Finance: $350 + 450 x $560 = 0.64 x $560 = $358

2. Unit costs. This method uses costs of individual products to determine the
weights to allocate revenues. Assume unit manufacturing costs are used to de-
termine the weights to allocate the $560 and Word and Finance suite revenues.

W d: —$—36—— =i{), =
or $36_}_3;50><$560 0.42 x $560 = $235

Finance: — 990 % $560=0.58 x $560 = $325
$36 + 850

This method does not recognize differences across products in the willingnes
of customers to purchase individual products.

3. Unit-based. This method gives each product unit in the suite the same weighi
when allocating suite revenue to individual products. Thus, with two produce
in the Word plus Finance suite, each product gets 50% of the suite revenues al
located to it.

Word: “1_1 x $560 = 0.50 x $560 = $280

1
Finance: 751 x$560=0.50% $560 = $280

These three approaches to determining weights with the stand-alone methox
yield the following revenue allocations to individual products:

Revenue Allocation Weights WordMaster FinanceMaster
Unit selling prices $202 $358
Unit manufacturing costs 235 325

Units 280 280
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[he incremental revenue allocation method ranks the individual products in a
wundle and then uses this ranking to allocate the bundled revenues to these individ-
2| products. The first-ranked product is termed the primary product in the bundle.
[ he second-ranked product is termed the incremental product.

Consider again the Word and Finance suite of Superhighway. Assume Finance-
\Laster is designated as the primary product. If the suite revenue exceeds the stand-
lone revenue of the primary product, the primary product is allocated 100% of its
r:nd-alone revenue. This is the case for the Word and Finance suite. The suite revenue
+ 5560 exceeds the stand-alone revenue of $450 for Finance. Thus, Finance is allocated
<0 revenues and the $110 ($560 — $450) remaining revenue is allocated to Word:

Revenue Revenue Remaining to Be
Product Allocated Allocated to Other Products
Finance $450 $110 ($560 — $450)
‘Word 110 0

* he suite revenue is less than or equal to the stand-alone revenue of the primary
wduct, the primary product is allocated 100% of the suite revenue. All other prod-
> In the suite would receive zero allocation of revenues.

Where there are more than two products in the suite, the suite revenue is allo-
s7d sequentially. Consider the Word, Spread, and Finance suite, which sells for
0. Assume SAG ranks Finance as the primary product, Spread as the first incre-
p-ntal product, and Word as the second incremental product. The allocation of the
") suite revenue proceeds as follows:

Revenue Revenue Remaining to Be
Product Allocated Allocated to Other Products
Finance $450 $310 ($760 — $450)
Spread 300 10 ($760 — $450 — $300)
Word 10 0

rly, the ranking of the individual products in the suite is a key factor in deter-
“ng the revenues allocated to individual products.

Who decides the ranking of products in the incremental revenue allocation
“hod? One approach is to survey customers on the relative importance of individ-
oroducts in their decision to purchase the bundled products. A second approach is
- data on recent stand-alone performance of the individual products in the bun-

\ third approach is for top management at SAG to make the rankings.

Product managers at SAG would likely differ on how they believe their individ-
sroducts contribute to sales of the suite products. It is possible that each individ-
sroduct manager would claim to be responsible for the primary product in the

=
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textbook study guides used in university courses. Sales of these study guide:
in 19_7 were:

Wholesale
Gross Unit % Unit Selling Author
Title Sales Returns Price Royalty
Introduction to Marketing 22,000 3% $20 17%
Principles of Economics 17,000 22% 20 15%
Corporate Finance 11,000 12% 20 15%

Returned study guides cannot be resold. Authors are paid a royalty or
the dollar amount of net revenues (gross wholesale revenues minus re:
turns).

Up to 19_6, SB did not have reliable information on individual titl
sales returns. Books could be returned to any university book store, notall o
whom kept detailed records on the titles of returns. Up to 19_6, SB used ar
average return percentage of gross revenues on all its titles when computin
the net revenues on each study guide.

Starting in 19_6, SB required all its sales outlets to detail sales return
by individual title. The result was that SB is now able to compute more ac
curate net revenue figures for each individual title it sells.

REQUIRED

1. What is the actual average return percentage of gross revenues for the
three titles sold by SB in 19_7?

2. Why is the use of an actual average return percentage on all titles an ex
ample of peanut butter revenue adjustments? Why might companie:
adopt this approach?

3. Compute the royalties paid to each author by SB in 19_7 using:

a. The actual average sales return on all three titles
b. The actual sales return applicable to that title
Comment on the results.
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7 Revenue allocation, bundled products. Pebble Resorts operates a five
star hotel with a world-recognized championship golf course. It has a decen
tralized management structure. There are three divisions:

4 Lodging (rooms, conference facilities)

@ Food (restaurants and in-room service)

9 Recreation (the golf course, tennis courts, and so on)

Starting next month, Pebble will offer a two-day, two-person “getaway pack

age” deal for $700. This deal includes:

# Two nights’ stay for two in an ocean view room—separately priced a
$640 (8320 per night for two).

4 Two rounds of golf separately priced at $300 ($150 per round). One per
son can do two rounds, or two can do one round each.

4 Candlelight dinner for two at the exclusive Pebble Pacific Restaurant—
separately priced at $80 per person.

Samantha Lee, president of the Recreation Division, recently asked th

CEO of Pebble Resorts how her division would share in the $700 revenu

from the package. The golf course was operating at 100% capacity (and the

some). Under the “getaway package” rules, participants who booked on

week in advance were guaranteed access to the golf course. Lee noted tha



[image: image10.jpg]every getaway” bookmg would dlsplace a $150 bookmg She stressed that
the high demand reflected the devotion of her team to keeping the golf
course rated in the “Best 10 Courses in the World? listings in Golf Monthly.
As an aside she also noted that the Lodging and Food divisions only had to
turn away customers on peak-season events. such as the New Year S perlod -
REQUIRED o o
1. 'Allocate the $700 “getaway package revenue to the three dmsmns '
using , ~ .
a The stand—alone revenue - allocation method -
~b. The incremental revenue allocation method (w1th recreatlon ﬁrst ,
then lodging, and then food) ~ , -
 Use unit selling prices as the weights in (a) and (b).
2 What are the pros and cons of (a) and (b) in reqmrement 19 '

s e




11

